WESTSAIL 32 STAINLESS STEEL BOOMKIN INSTALLATION

To replace the wooden boomkin, I have designed a simple stainless pipe boomkin, consisting of 1-1/4" ID pipes, which are 1-5/8" OD, and a stainless crosspiece similar to the one on the wooden boomkin, with a 4" vertical web.  There are hull pads on the ends which bolt just below the rubrail, with backup washers inside the lazarette.  Tabs are welded on the inboard side of the pipe to mount teak boards to be able to step out onto the boomkin.  The boomkin sits lower than the wooden one, and the existing backstay needs lengthening.  A extender is provided to allow for the added length so as to have enough take-up in the turnbuckle.  The existing whisker stays are used.  All mounting bolts and backup washers are provided.  All stainless parts are either hand buffed and polished, or are electropolished in a chemical solution.

The wooden boomkin should be removed prior to starting the installation.  Seal the holes in the deck with epoxy resin, and fill with epoxy putty.  Slip the end pieces onto the boomkin pipes, with the pads attached with the 5/8" bolts and nuts on loosely.  Temporarily secure with string to prevent dropping the pieces into the water.  Tie up the front ends on each side, and block up, or tie up, the aft end.  The hull pads have ears welded on close to one side.  This side should have the ear at the top edge of the plate up tight against the underside of the rubrail, and the boomkin should follow the sheerline aft.  It is actually about an eight degree rise for the boomkin.  Level the boomkin from side to side.  If necessary, trim some off of the underside of the rubrail for a better fit of the hull pads.  Drill one hole on each side.  The pads should fit with the aft holes approximately 25" from the stern, and the top holes about 1" below the rubrail.

Recheck the alignment, then drill the other three holes on each side.  Take off the boomkin and bolt on the pads with backup washers, lockwashers, and nuts on the inside of the lazarette, and with a ring of caulking around each hole in the hull.  Install the boomkin, lube the 5/8” bolts to prevent galling, and tighten up the 5/8" locknuts.  When you attach the boomkin to the hull, the end fittings slips into the boomkin tube, then the 5/8" bolt attaches it to the hullpad.  Once installed, there is no way they can come apart, short of unbolting the end fitting from the hull pad.  However, I do supply two 1/4" bolts with locknuts if you want to drill through the fitting and attach the bolts.  The holes are already in the boomkin tubes, but not in the fitting that slips into it.  Don't drill the holes until the boomkin is completely attached to the hull.

Connect the backstay with an extender below the turnbuckle, and also connect the boomkin stays.  Check the alignment of the boomkin tangs on the hull with the stays.  If the alignment is off, then remove one of the bolts holding the stays to the hull, align the tang with the stay, and redrill the hole.  Seal the old hole with epoxy putty, and recaulk the boomkin tangs before tightening the bolts.  Adjust and tighten the stays.

If you are installing the fixed upper rails, loosely fasten the split clamps to the aft boom gallows legs, and insert the upper rails into the stern pulpit.  Adjust the clamps to line up with the rails, and mark where the rails need to be cut.  Remove the rails, cut them to length, and reattach.

If you are installing an Aires or Monitor windvane, position the two mounting fittings to the crosspiece and attach the 1/2" bolts through the slotted holes.  Slip the windvane onto the mounting fittings, and snug up.  Adjust the vane to fit, then tighten the bolts and nuts.  Lastly, drill for the locking bolts to hold the vane body to the mounting tubes.  On the installation for the Monitor windvane there are two supporting struts from the lower ends of the vane that can go back up to the ears welded on the bottom of the boomkin pipes for additional rigidity.

June, 2017                                                             B – 6

